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In each triangle shown, construct the altitude from A. 
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Construct the orthocenter of each triangle shown. 
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8.  P is the orthocenter of ∆ABC. AF = 4cm, CF = 3cm  
Find AC.  
 

9. P is the orthocenter of ∆ABC. 
BD = 12 ft. 
BC = 13ft.  
Find DC. 

10. P is the orthocenter of ∆ABC. 
CP = 25 cm 
PF = 7cm 
Find CF. 

11. P is the point of concurrency for the altitudes of ∆ABC. 
BP = 61mm, PF = 11mm.  
Find BF. 
 

12. P is the point of concurrency for the altitudes of ∆ABC.  
AD = 12 in.   DP = 16in. Find AP. 

13. P is the point of concurrency for the altitudes of ∆ABC.  
AF = 48 meters, AC = 50 meters. Find CF. 
 

 

 


